E %t H A FK

FESTO

BHF
B R FK .
(s ; N o 2 I
LA B R, 14N Al A ﬁ B
(%54 DIN 43953 ) _ ,_ei’ @ é[ T f::’:ﬁf: j g{a
B .’f’f B e — O e
HERE -
A RIS DU 9 2 K 0
SRR S LK) 2
R~ AT 508
KK B1 D1 D2 D3 L1 L2 L3 L4 L5 L6
(%) (%] (%)

M4 2.2 - - 3.8 33 24 4.5 16.5 12.5 16
M5 2.7 8.5 14.5 5.8 38.5 25 4.4 17.5 11.5 15.7
Mé 3.2 8.5 14.5 5.8 37 25 4.4 17.5 11.5 15.7
M8 4 12.5 19 7.8 49 34 6 23.5 14 20.5
M10 67.5

5 21.4 32 13.8 49.5 9 34 23 31
M10x1.25 69.5
M12 70.5 49.5 9 23 31

6 21.4 32 13.8 34
M12x1.25 74.5 50.5 10 24 32
M16 97

8 33.8 45 22 71 10 53 32 44.5
M16x1.5 103
M20x1.5 10 33.8 45 22 120 80 19 53 41 53.5
M27x2 13.5 62 62 28 157 103 12.2 79 42 62.5
M36x2 18 80 80 38 251 179 22 136 78 110
KK =<1 =2 =<3 <4 |2 RV |HmE (B ME

[mm] g

M4 11 11 3.2 7 +0.5 2 15 6528 FK-M4
M5 7 13 5 8 +0.5 2 20 30984 FK-M5
Mé 7 13 5 10 +0.5 2 23 2061 FK-Mé
M8 10 17 7 13 +0.5 2 50 2062 FK-M8
M10 19 30 1 17 +0.7 2 210 2063 FK-M10
M10x1.25 +0.7 2 210 6 140 FK-M10x1,25
M12 19 30 1 19 +0.7 2 210 2064 FK-M12
M12x1.25 +0.7 2 215 6141 FK-M12x1,25
M16 30 " 19 2 +1 2 670 2065 FK-M16
M16x1.5 +1 2 650 6142 FK-M16x1,5
M20x1.5 30 41 19 30 +1 2 720 6143 FK-M20x1,5
M27x2 55 55 24 41 +1 2 2,100 10 485 FK-M27x2
M36x2 75 75 32 55 +1 2 5,800 10 746 FK-M36x2

1) TR 2, 4 4rFesto 940 070kRYE
TCAF B EAG — & W IR AE 1. MRS TC O B B R 2300, W B S LIRS s 5 Jl . TR0 45 A i k.

Bl fih

2003/10 - Subject to change - Products 2004/2005

1/10.3-9

Lie i S
TG ZEFFHHAF

[N
o
w



Lie S
TG ZEFFHHAF

[N
(=]

w

B KSG FESTO

SRk
A KSG D1
BB F: .
UMK, 1 ARBUE BT = fE
Snh et o
Bk il
B '
AR A a8 O ... ©
L N
% ’:’I {/\\ N\
Y Q) e
N ==
@) ()
o 74
B3
B1
R+ AT 580
KK B1 B2 B3 B4 D1 D2 D3 D4 H1
(%] (%] (%] (%]
H11 H13 H13
M10x1.25 60 37 36 23 20 30 6.6 11 24
M12x1.25 60 56 42 38 25 40 9 15 30
M16x1.5 80 80 58 58 30 50 11 18 32
M20x1.5 90 90 65 65 40 60 14 20 35
M27x2 90 90 65 65 40 60 14 20 35
KK H2 T 2 =€ CRCY £ RE w5
(¢]
M10x1.25 15 6.5 6.8 17 2 225 32963 KSG-M10x1,25
M12x1.25 20 7.5 9 19 2 445 32964 KSG-M12x1,25
M16x1.5 20 8.5 11 24 2 900 32965 KSG-M16x1,5
M20x1.5 20 9.5 13 36 2 1,060 32966 KSG-M20x1,5
M27x2 20 9.5 13 36 2 1,150 32967 KSG-M27x2

1) TR 2, 4 4rFesto 940 070kRYE
TEVF R A — SE TR 0. SNSRI LT AE BAT BEA IR BRI, VI FL4%S T RS sl S 2l T30 55 A o 4o k.

1/10.3-10 Products 2004/2005 - Subject to change — 2003/10



B KSZ FESTO

SRR
FEEA KSZ _DI_
FITHuHL e 15 22 HF TT
7 ::L__:":‘:|§E
PEseiI: 8 e
LA, 1 AMBBUE B Y S
F‘FH D2
ZEE % 8 5 o
BERE K . ©
R SRR A # '1-H{D) 3|2
L] o~ 0o
B3
B1
N AN €
KK B1 B2 B3 B4 D1 D2 D3 H1
%) %) %)
M6 30 25 20 15 12 18 5.5 16
B 35 30 25 20 14 20 5.5 22
M10x1.25 40 35 30 25 17 26 5.5 20
M12x1.25 50 40 40 30 17 26 5.5 22
M16x1.5 60 45 48 33 22 34 6.6 25
M20x1.5 72 50 57 35 30 44 9 32
KK H2 T T1 z = (RCY || [1hE T
@
(g]
M6 8 2 3.95 8 10 2 |4k 36123  KSZ-M6
B 8 - 3.95 - 13 2 |70 36124 KSZ-M8
M10x1.25 10 - 5.95 - 15 2 [107  |36125  KSZ-M10x1,25
M12x1.25 12 - 5.95 - 15 2 [180  |36126  KSZ-Mi2x1,25
M16x1.5 12 - 6.95 - 19 2 [240  |36127  KSZ-M16x1,5
M20x1.5 15 - 8.95 - 27 2 |408  |36128  KSZ-M20x1,5

1) TR 2, 4 4rFesto 940 070kRYE
TEVFR R A — SE TR 0. SNSRI LT AE BAT BEA IR BRI, WL 4%S T RS sl 5 2. 50 55 A o 4o ik

T ER HEEAE B AR L RV A,

2003/10 - Subject to change - Products 2004/2005 1/10.3-11

Lie i S
TG ZEFFHHAF

[N
(=]

w





